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Name: Roll No. :

Date: - - Teacher's Signature:

Q.1: Tick (v) the correct answer. S buEE (v VMR 1 Ay
Most the gaseous exchange in a leaf occurs through: -< 7 ¥4 25L J:lmbb’u/ufur -1

Guard ceIIsJ’ul/ (D) Companion cell J’u.«_os (C)

Glottis is a narrow opening at the floor of:
Larynx UL # (D) Pharynx U2 (C)
Where does the gaseous exchange occur in humans:
Alveoli Juysi (D) Pharynx U2 (C)
Which structure helps in taking air out of lungs?
Ureter ~.¢ (D) Bladder <(» (C)
The respiratory centre is present in:
Muscles U+ (D) Nose “t (C)
The acute bronchitis usually lasts about:
Four weeks 22, (D)  Three weeks Z2¢f (C)
Cutting of walls of Alveoli is called:
Bronchitis €. (D)  Emphysema L= $* (C)
Which disease is not related to lungs.
Pneumonia b/ (D)

t@?

Lenticels #w 2 (B)

Nostril Jt (B)

Trachea L.} (B)

Diaphragm (1//5 (B)
Brain J“{Ls (B)

Two wee@\&» (B)
(\)\/ 2

Reumonia lm’ (B)

Myopia b:ldL ((3)\J O Emphysema L= §* (B)

Stomata (s (A)
Sty /J}L JIE
Nasal cavity (§ LIz (A)
*’émuw;wuffwuw -3
Bronchi (€2 (A)
..LJ’J/('G:—JJA&/’U)’LU)/% -4
Kidney o) (A)
?‘gt')"}:?!‘/"’d/:'./;‘fq .
Lungs u"u;/" (A)
L J/J)brlpu"" 53/-»'( |
One week =i [ (A)
?‘uua’ IS dud _7
Asthma - (A)
S AL Ut P hast -8

Asthma .+ (A)

Total chemicals in tobacco smoke are: (7 -@Lnﬂfgﬁ@ﬁ&f L/ -9
5000 (D) ,.o’l)c_,4 (m) C) 3000 (B) 2000 (A)
Every year "World No Tobacco D 1‘§ ce ebrated on: ..c_mwuiﬁ,d»"dv/ -10
¢" 31 May (D) \\Y 25 May (C) §" 21 May (B) ¢ 11 May (A)
10x2=20 Write shog@};swers to any ten (10) questions. ..z’_’//._,uyé._,uwo.»_df -2 /Jlr'
Differentiate between respiration and breathing. f’gu/l/u‘x/ /fu/'%;iu’“’ -
Write a short note on gaseous exchange in plants. _u.f’gu:’ﬂ@J;béu/u‘ Jg -l
What is the role of Pharynx in Respiration? “4.11:/L,J/(J§-’u’ff ~lii
How specific sound for talking is produced? QLJJJI;IJdedeV -iv
Trace the path of air from the nasal cavity to the alveoli. -u/ub/uKlr..(dUMl/La.dﬂ/J/ Y
What is inspiration? ?a_l/‘/,:u’ ¥ _vi
Differentiate between acute and chronic bronchitis. _J/ 5 l:u/u"u%;/.f Y 3'_«3'( [ Vil
Write the name of Bacterium which causes Pneumonia. u"?‘LK(’/CLIJL/yL«f = Viii
Write down two symptoms and treatment of Asthma. &gf C el 5/ ﬁ_«l.lk»d/,u ) ¢

What is meant by carcinogens?
How smoking affect on circulatory system?
What is Arteriosclerosis? Describe briefly.
I1x10=10 Write answer to any One (1) question.

Explain the respiratory system of human.
Write a detailed note on Lung Cancer.

QL)/L-C.:,/J""J =X
<‘¢Ly/n,0(’d///KJGf“ _xi
-éubl/"i*‘al/u’//@/ﬂ < Xii

J_,m.y.c‘-_af oy

_JIUba.JLﬂﬁr/bCAu)/u)JdU‘ ..3/'.‘U'r'
&UH;’J‘”? /L Ut 4 A
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‘ Biology 10: Test No.2

Name: Roll No. :
Date: - - Teacher's Signature:
Q.1: Tick (v)) the correct answer. <L @uu( (V)42 =1 /Ulr’
The maintenance of internal body temperature is called: ..z.-.L'JJvf Lf('bfu;lipz:dwlz:()
Guttation ;<=5 (D) Excretion ¢/~ /f’fl (C) Thermoregulation u"me/ (B) Osmoregulatlon JJ;@H}! (A)
The byproduct of Photosynthesis is: _a._/u/du(/‘,g-.o 9 2
Ammonia +*1 (D) Nitrogen 7t (C) Oxygen f“f T (B) Carbon dioxide L/ T0546 (A)
The process of guttation occurs in the plant: *’Lt'nutg»"/(f K ‘_,...f -3
Rubber plant 1>5%. (D) Keekar /C( (C) Grass be (B) Pine J L (A)
The plants, I|V|ng in dry environment, are: -u‘;:iLbz.zu“'dil..f;
Xerophytes G5, (D)  Mesophytes 12 (C)  Hydrophytes 65l (B) Halophytes ~bs (A)
How many layers the skin of human body consists of? *‘gdrd“//uﬂdf&(ff ‘A1 .5
Four & (D) Three ¢~ (C) Two » (B) One LI (A)
The organ for filtration of blood is: :q_ﬁ’w:é_/}‘b;@} -6
Kidney a;/ (D) Stomach s (C) - é%m%\cu) (B) Intestine le (A)
The length of human kidney is: @ | _at‘yua;/fdw -7
HE= 27 cm (D) HE= 4cm (C) *”\\\Q/’d’5cm (B) F25%10 em (A)
The weight of human Kidney is approximately: r’%\/ L /’unl{;_:; JuI _8
ﬂ/ 127 g (D) u/ 120 g (C)J F t/ 1159 (B) u’ 110 g (A)
Amount of Urea in normal chemlcal compos@oﬁ of urine is: aJLWd/ LJ)’J‘-’J /dL/ J!.«bJ._, =9
9.3 g/l (D) /1 (C) 7.3 g/l (B) 6.3 g/l (A)
Who is the writer of "Al-Tasrif" e y p)edla ?q_ufJ”K"hg/ﬁl"ggrfUl =10
Al Farabi d/Jl (D) sl (C) Jabir Bin Hayyan (l>¢rsl (B) Abu al-Qasim (’C-?Jb’l (A)
10x2=20 Write sthatﬁwers to any ten (10) questions. -éxfuuyi._,mmo;df _2 )y
Define Homeostasis and give an example. e gt /’J St
What is Guttation? How is it different from dew? %;._Md/;,(’ *‘:_.qu.z.f -li
What is meant by metabolic waste? el e sl i
What is the difference between human skin epidermis and dermis? ?%J/'lfwu/ljulu’}j@ldﬂféui -iv
What is the function of Urinary bladder? e 6L Sz v
Define Nephron and write down the names of its parts. ..u:f”grbf_ur‘?z:u“wlébéf /Uu; Ko
Describe the role of Boman's capsule in nephron. _Zuw;/K"Jr{f‘y"u"u)}f <Vii
What steps are involved in the formation of urine in the kidneys? *’u*J’/:..u:QC d.g../lf»*u‘z.;/ ~Viii
Describe osmoregulator function of kidney. -5 ubd” /fm’:l&_:/ -iX
How kidney stone is formed? ¢Lud/ur“d/ -X
What is kidney failure and how it can be treated? “:_Lﬁtplfdf Z,JJ:KJI%_(/ Ln(gﬁ_;}/ -Xi
What is meant by tissue rejection? e /L,Q:.Jr’pwd/ﬂ Xii
I1x10=10 Write answer to any One (1) question. éfgulibfdly..fc;df (Y
Write a note on nephron and draw diagram. ..é“_b:f:}wu/uywwfw/: ..3/-.Ulr

Write a note on Kidney transplant. ..u:’g&ﬁuﬁ/?_z; U,;*"!f&if ..4/:7‘_)1:-'
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Total No. 40

Name: Roll No. :
Date: - - Teacher's Signature:
Q.1: Tick (v) the correct answer. ik 6&)“(('/)/'-—"?-’/) A

How many types of coordination are there in organism?
5 6L (D) 4 b (C)

Special organs, tissues or cells of the body which detect stimulate:
Effectors J /@l (B)

Dendrites U3 (D) Coordinators J %57 (C)

The nature of Myelin Sheath:
Rigid 4~ (D) Insulator 2+ (C)
Which one controls rage, pain, pleasure and SOrrow?
Midbrain (/<4 (D) Hypothalamus u’éer (C)
Pairs of Spinal nerves are:
13 (D) 21 (C)
Deficiency of which vitamin causes poor night vision?
Vitamin D ¢s (D) Vitamin C /ts (C)
Who described 130 diseases of eye?
Ali Ibn Isa 5 (D)  Jabir bin Hyyan gloeizl ©)
Tympanum (ear drum) is the part of ear.
None ¥Mde= i (D) Inner Ear o¥Q3ss! (C)
The hormone is necessary for the ejectlon
Calcitonin JJJM (D) Oxytocin Jj<\
Other name of epl ephrine is:
Calcitonin /Y™~ (D) Thyrmqﬁ\ LAG (C)
10x2=20 Write short/a" \\o}ers to any ten (10) questions.

Differentiate between Nerv%us and Chemical Coordination.
Differentiate between Receptors and Effectors.

What is salutatory impulse?

Describe the function of sensory neuron and motor neuron.
What are olfactory bulbs?

Explain briefly brain stem.

Hkxfrom breast.

What is spinal cord? Give its length.

Define Reflex action and Reflex Arc.

Why the eyes of dog and cat shine in the night?

What is meant by oval window?

What is the difference between Endocrine and Exocrine glands?
Write down the causes and symptoms of Paralysis.

I1x10=10 Write answer to any One (1) question.
Write a note on forebrain.

Write down two disorders of human eye and their causes and treatment.

Elastic -/ (B)

Medulla Us4+ (B)

Vitamj\n'tis\g’e, (B)
/C\ \
\Qﬁgewton Tz (B)
{\
/QMlddle Ear u§ULs (B)
Parathormone iz (B)

Adrenaline o2t 4/ (B)

Qadfu}dulfd/r)uj/ubu»')b -1

3 £ (B)

2 » (A)

...u";@ (dﬂ)é’i)/l./r’: Jlgfr‘;éf) -2

_ Receptors J 4 (A)
o One UL = B3 15255 -
Conductor 74 (A)

-< l:’/ds /;( (J)'Ji‘)))‘,.ﬂ"’ -4

Cerebellum (= (A)

- A—YGJ?LJ}/J’ L -5

12 (B)

31 (A)

"b’«;u'/dla(fub:_ﬁdb{{gfb;f( -6

Vitamin A ¢/t (A)

UK 13085 T S ZT
Ali bin Sina b1 (A)

e e LI pmed -8
External Ear /6. (A)

-¢(5/3/‘4"_£4J.5w»:_dlp’unp -9

Thyroxin o~ LG (A)

";Lrl"/”(q:ﬁf‘-i' -10

Parathormone »#iz (A)

e rl et 10 2/

-J/EJLJU/J“J‘U’JJU(Ji‘!ﬂlu/dul}(w/

-I

..Q.’//;/uf/ﬁa“lﬂbﬁ‘*}// =i
Sl e AIG - i
_.Q“’/UQJ’JKUD:.’:})"J}U/ -iv
GRS A

_J/J&)in// <Vi

et VIESL i
_é...v/’&/uclu’@wlu’(luﬂ _viii
?ug‘jc-?uy{gf(lg(ém&dsﬁmb -iX
_u’/u?b}:d/aiu)»‘ =X

S GASIES S A e x

N S L xii
_40._.,132@%{ 3y s
_ufﬁ¢,)4q/.;} 234
-é{/’@ﬂm'aﬁ:Juch'jlifJuéa(T&Ul ...4/,‘0'}“
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Q.1: Tick (v') the correct answer.
Which one of the following have exoskeleton?
Reptiles # s (D) Mammals #¢ (C)
Vertebral Column protects:
Lungs < 2% (D)
The cells of Cartilage are called
Ligaments <16+ (D) Collagen o4 S (C)
Cartilage found in intervertebral disc:
Elastic &1t/ (D) Matrix % (C)
Bone forms:
Blood cells 44 (D)

Bones in skull are:
25 (D)

Brain éL; (C)

Oxygen & T (C)
24 (C)

Vertebral column ¢¢J £ (D)

Number of bones in both feet is:
54 (D)

Example of ball and socket joints is:

Joint of fmger;ib{u"ﬁ! (D) Joint of anklex#

Osteoporosis is a disease of:
Brain J (s (D) Ston

Shoulder girdle J5./0 % (cl S

22 (C) r’%

Define Locomotion. & oo

What is the difference between Exoskeleton and Endoskeleton?
What is the role of skeleton in support and movement?

Define Cartilage and also write its two types.

Differentiate between Elastic Cartilage and Fibrous Cartilage.
Describe the structure of bone.

What is Axial skeleton?

Define joint and give its types.

What is the difference between ball-and-socket joint and hinge joint?
Describe the function of tendons and ligaments.

Give three reasons for Osteoporosis.

What is difference between Osteo-arthritis and Rheumatoid arthritis?

1x10=10 Write answer to any One (1) question.

Describe the joints with examples.
Write a note on the role of biceps and triceps muscles.

Birds « 4/ (B)

Spinal cord 361 (B)
Osteocytes uf”/vri“;l (B)
Fibrous <6 (B)

Hormones .| (B)

el /\ 23 (B)

All these are the parts of axial skeleton of humans except: ;/@\
Sternum (/ (B)

Heart ¢J> (B)
10x2 =20 Write short /aﬁ%rs to any ten (10) questions.

SO (V) Rz /U;y
Qu‘éjml&/lu;(ﬂd.v -1
Arthropods ,un/,n (A)

e bSesbolé) i -2

Heart J: (A)
_W.M)’z:@bﬁ 3
Chondrocytes SV 1 (A)
et ) UL LS £ -4
Hyaline (¢l (A)
:_dlzd,b -5
Mucous 'z (A)
-u:u.lzwi'dg:{ -6
22 (A)
uyl.u*yv‘_,.,,.l;udf/ Lol T
Ribs U (A)
..c".dﬂ:'ﬁjd/ua.’{'d:u:gu:’» -8
108 (A)

e Jedesze iy -9

126 (B)

(C)  Shoulder joint 2624 (B) Elbow joint 2265 (A)

_‘adjtgu.{;flu’x."’: =10
Bones (uz+ (A)
ezl 103 24y
QL}/U&.J}/‘:@L&&J‘J i

?L,/Lfc;,d_l_{_q r(l,u"_,-l-g-uyi ~ii
Qa;b// VY pbhSa sl e il

ég(ngL-—"»Jc_L)K/ZJ/‘U/@b)K -iv

~Z 0 kS S UA gy S Lok v
S S6h v

S S J'/ | _vii

&gfruwr £y 505 i
%—..u/u/wu*‘ 2Es IR L Cix
_J/ugdwlifww*”eﬁ X
_“ﬁgr‘téal‘,ﬁ:dftfﬁ{;!}ﬂ ~Xi

S AU ATl BT il
e 8 e

-iyuuvcfrw&ﬂf 2340y
&q_,y//ufé)/ YOSl A
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‘ Biology 10: Test No.5

Name: Roll No. :
Date: - - Teacher's Signature:
Q.1: Tick (v)) the correct answer. <L @uu( (V)42 =1 /Ulr
Essential process for continuation of species is: LJ! d»/'ALJ’LJ g /u;o’(
Locomotion Jrﬂ (D) Respiration ﬂ/uﬁv (C) Cloning K (B) Reproduction JC:// (A)
Method of asexual reproduction found in Amoeba is: . ;Juc_dyw:'u” Sl 22
Spore formation ﬁﬁm’ (D) Fragmentation d:..’:..s& # (C) Binary fission o d/t (B) Budding g + (A)
Which type of asexual reproduction found in corals? u‘z_/u:’;yxa_é’_)‘/;bf B,
Spore formation o/~b.s (D) Binary fission ¢*5~l (C) Fragmentation siwiwds (B)  Budding <£% (A)
Example of Stem Tuber is: -adl/&r(’ -4
Potato #7 (D) Tulips ,JLJJZ (C) Garlic u”} (B) Ginger uy (A)
The latest method of vegetative propagation. -¢.d)u“ﬂ-,wb’ el § ) Pty <D
Cloning _£#¢ (D) Budding £ (C) Grafting &1/ (B) Cutting &~ (A)
Female reproductive part of flower is: _‘L,-e?}’/b/g.ml.lfd;{ -6
Stamen # (D) Petals ¥ (C) s@@)’ (B) Carpels 4§ (A)
Ovule after ripening make: C N < b S A T
Egge %! (D) Root 7 (C) P o~ Seed & (B) Fruit £ (A)
The example of the flower which is pollmated by m% > adVJdﬂLbL/f bya sl 12> -8
Rose — 1§ (D) Willow 4 (g)/ Hazel 04 (B) Grassud (A)
Mature plant is: AN y/ .q_rm»;dl, -9
Epicotyl J¥(5! (D) Hypocoty JEE Radical £4/ (B) Embryo 5 /£ (A)
Pakistan's Federal Ministry of Health\ lished NACP in: -LEQGIZTB’(I{P;_IL(UNFPA)ﬁﬂ;y@ﬂ ty -10
1970 (D) (\, 1969 (C) 1968 (B) 1967 (A)
10x2=20 Write shortﬂjfsﬁrs to any ten (10) questions. _éf/’._..wz:.,mmo:_df -2 /Jlr
What is reproduction? er’fe\tﬁme names of its two basic types. f?‘LLrwd;u»d/w%.JJ@// i
What is meant by Multiple Fission? Give an example. -é:Jvuf?+;/gLu)dL -ii
Differentiate between spore and endospore. DA mes e sl _iii
Why gardeners use the method of grafting? e SJe1d }’Zd/ﬁrmd)gﬁ’uf JEL -iv
Differentiate between sporophyteand gametophyte generation. U 5 s 3 AT s bf‘-f:m/ AT TY L Y
How seedless fruits develop? UL /J/ SLEA  _vi
Define pollination. Write names of its types. ufJuwé J/U/J' di ~Vii
What is an immature plant (Embryo)? Write names of its parts. u"O(LéuyﬁLJl‘LWﬂdLL -viii
Write two conditions necessary for seed germination. _iuu:; /dﬂ/’»iéé ILC -ix
What is the difference between spermatogenesis and oogenesis? "Lu/tfu* J‘“-"‘":ﬂmﬂﬁ/ =X
Write the names of the parts of male reproductive system of rabbit. &g(téwﬁif’/ r@/mf,uf? _Xi
What are the objectives of NACP? ?ujﬂu»lJLNACP _xii
1x10=10 Write answer to any One (1) question. _“&{szuy.gc_éf Ly
Explain the Structure of Flower. _“éwl.b:u(:«ﬁVJdﬁ.f ..3/-,2 Iy~

Write extensive note on structure and germination of seed. ke SuEZS S LIS G Ut AL
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‘ Biology 10: Test No.6

Name: Roll No. :
Date: - -2022 Teacher's Signature:

Q.1: Tick (v)) the correct answer. <L @uu( (V)42 =1 /Ulr’
Branch of Biology in which we study about inheritance: u‘&/u"gztcﬁul»(u‘u’cw:gﬂ?;’rt -1
Genetics oS> (D) Ecology Sk | (C) Physiology $.4L7 (B) Pharmacology G.#/1.6 (A)
Genes consists of: Jlne @ 2
DNA (D) Protein dﬁ:{ (C) mRNA (B) RNA (A)
In a nucleosome, DNA is wrapped around brotein named: -a;lrxLJDNA;)Z‘f J’/d"r}"}’g}ﬁuﬂ -3
Hemoglobin u,b/,/ (D) Histone ¢/ #* (C) Interferon u;/-’/-l (B) Insulin JHI (A)
James Watson and Francis Crick proposed the structure of DNA in: ...l/u"d:l.(_»l/d/ DNALJ/U‘J l//:lu" Iy /’ -4
1922 (D) 1933 (C) 1963 (B) 1953 (A)
______hydrogen bonds are present between cytosine and guanine. :@Lﬁ)ﬁgu?u,@ﬂ,_uyuédf I;Cﬂu.‘.’ ;JV -5
5 (D) 4 (C) 3 (B) 2 (A)
Inherited characters are called: . -@Ju{uuﬁ [fb: -6
Genes - (D) Fertilization %711} (C) Genem;sOd_. 5 (B) Traits J‘/ (A)
The process of protein formation - Jf Kz_u’u -7
Translation ;ikud! 5 (D) Transcription ﬁ):’3}’ (C) é\b\(catlon u’( qu (B) Combinatlon S (A)
Expression of gene in the form of trait is called ..u"4;f/ L#’lgﬁu’u"f’d/uuf’ -8
Physical poweru;’dw (D) Genotype —~{ z@/ Karyotype U7 / (B) Phenotype ../W (A)
What is the meaning of the term "true breedi "9/ . d § L kel _9
Heterologousu’gb 2 (D) Homozygous Mﬁg% (C) Homologousﬂry (B) Heterozygous V.-SJ yap (A)
The book," Natural Selection” wrlttﬁn\ rwin was published in: ..dfél/“‘_,.:&l.- J 2’ .,.,U’d/uul; -10
1960 (D) ) \,\ ~ 71959 (C) 1860 (B) 1859 (A)
10x2=20 Write short./an\BWers to any ten (10) questions. -éz/’....wé..,myw;df -2y
Define Genetics. ¥ -é._.c!/{f EPCCHIT
Write the chemical structure of chromosome. JVdL’(J Y
How DNA of chromosome work? QLL/( LA DNA ym/ _iii
Define Allele and give an example. -J;JVJAU/J/JJ"' -iv
What is meant by Genotype? Write the names of its types. &?LL(LJIJJ 194,, /UZ:.ulf -V
Differentiate between dominant allele and recessive allele. u"{)/u" J”' lr“f-wld'fo’lufu Vi
Define Monohybrid and Dihybrid cross. S5y AV Ol _vii
What is the Punnett square? Tell its use. e b1 B K s il
Explain Continuous and Discontinuous Variations. ..zi/_»l..mf_, /U"V /AU’V -iX
What is theory of special creation? QLL‘C/ /?JKJ%’"W -X
What is the importance of artificial selection (or selective breeding? "LJIU/J ( J»/ ,,CL/ )5 _xi
How many important processes take place in organic evolution? _u:’?LLJif(’liJ‘wldVL =Xii
1x10=10 Write answer to any One (1) question. ch..a’i(dl}“u( :_d/ Ly
Write a note on replication of DNA. &U.,:’,Q,*S JLJ)JG—'Jld g Q. /:Ulr

Prove that variations lead to evolution. ..u:d..Jl,E{ Bl l/:"f“i._/;L -4/'.2‘)'!"
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Biology 10: Test No.7

Name: Roll No. :
Date: - -2022 Teacher's Signature:
Q.1: Tick (v)) the correct answer. <L @uu( (V)42 =1 /Ulr
The study of the relationship between organisms and their environment. -u*qf);llbfﬁd” uwﬁdﬂéuwww 1
Marphalogy (.#6.4 (D) Ecology (. S (C) Phsylogy &.#L7 (B) Micology (&.Y€2L (A)
The largest unit of Ecology is: e 2le NG 2
Population /%y, (D) Habitate &* (C) Biosphere #%. (B) Community & (A)
All herbivore animals are: S Lsdeiml eV -3
Prey </ (D) Predators %4, (C) Parasites U~z (B) Grass eater Ll WW (A)
The only source of energy for all ecosystems of the world is: a,ﬂJJVKdLI/LL /"" 1 eru“'L«; -4
Neutrients U~ (D) Electricity (& (C) Sun . (B) Fire /T (A)
At the end of a long food chain, the energy will be: dW/i lZ.u‘lj:zoJ 6" yﬁu’ =9
zero s (D) less y( (C) as same as at startd/fd” &3/ (B) more d/n;l,) (A)
In 1927 an English ecologist developed concept of Ecological pyramids: ...Lw-"b’w/t‘f");.( 12k !/; U~1927 -6
Lamark LU (D) Darwings//3 (C) Men@@ﬁ (B) Charles Elton u*LUJ L (A)
The Nitrate forming bacteria are called: ©) W 2 bi bt T
Cocci Jf (D) Nitrobacteria | }C:f’l: (C) Nltro Q,‘nas JL;%/L (B) Rhizobium udb (A)
Interaction between the members of the same spe: >called: Ldllfu'( LI EInd I AL 2(5;&._.6 -
None = (¥ (D)  Mutualism (Axt (€)1 @r traspecuﬂc L4121 (B) Interspecific 471 (A)
An example of carnivore plant is: \ }\/ -LJVJJu»/de -9
Ferns 7/ (D) Mosses (Jg‘\\(f?) Pitcher plant =it 7 (B) Rose plant w&_,u-f (A)
A recycling of one tonne of paper can'sa & trees. :ugélngf-.:a‘u Sbea U%JL»:QKJJ I -10
19 (D) (\E) 18 (C) 17 (B) 16 (A)
10x2=20 Write shortafévy/rs to any ten (10) questions. _c{/futb’rﬁumywa.df 24y
What is the difference bet%en population and community? %-_.Q/L,U“dyf ;!JJ;’L i
What are the different levels of Ecological organization? Ut e e il /LJ/JU?);{ (i
If producers are eliminated from ecosystem what will happen? ..Kv:“Lf ?LL?.L.;JKJ;;(J”/ % iﬁygbgﬁ ~iil
Write the role of food chain in making food web. ?q.éﬁ;bb/b(f’;}u“i.b.x»} .\
Write a short note on ecological pyramids. &g_ﬁiﬁéumﬁ’ﬂf Y
What is meant by fossil fuels? Give two examples. ..J;u*J Poss S s /L/:_/'y’J’ s Vi
What is Nitrogen Cycle? Write down the names of its stages. u"irtzid" /Lu’ﬂ‘au/‘ﬁ Ss At v
What are epiphytes? uz_,«-gww; - viii
What is the threat for Maldives due to oceans? S s BUd e sird b i
How acid rains are produced? (‘Ldra’/wwf/ X
Differentiate between Deforestation and Afforestation. -é/u" u/ :’/_.wlu/ 285 xi
Write names of major pollutants of water pollution. - ZtL sk T n Ll b 10T _xii
1x10=10 Write answer to any One (1) question. &UHVKJ'}"JLG:'/ 'Ly
Discuss biotic components of Ecosystem. -q.’/af.,;lzlu@;l,éf‘/ £ 234y

Write a note on land pollution. _ﬂé“/f:.,ﬁ/?d/:ﬂ&) ..4/,Ulr
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Q.1: Tick (v)) the correct answer. <L @uu( (V)42 =1 /Ulr
When was the work on Genetic Engineering started? "lrc,-/._frt{ Kb /’I..@’ -1
1970 (D) 1944 (C) 1940 (B) 1930 (A)
Treatment through genes is called: 4t'w/fchu£ 2
Physio Therapy dl}if (D) Radio Therapy d/##4, (C) Chemo Therapy dl/f/ (B)  Gene Therapy (|44 (A)
Alcoholic fermentation is carried out by: ‘ 2, *Ldﬂ Y ,c;,uy"/._a,,lf -3
Algaef I (D) Yeast . (C) Bacteria | /.,C (B) Virus J7ls (A)
The microorganism used in the formation of Ethanol is: -4.(/ lp/Cl.Uba_xdlﬂ"lu*a.bJﬁ“ -4
Mutatlonu" s (D) Bacillus uJ S~ (C) Saccharomyces /*Lsf (B) Asperglllus u"” < (A)
A fermenter may hold _ of the growth medium. -c_an‘f'l/‘ffyﬂfuf /d"}..f D
Lacs of liters;<U#I (D) Thousands of liters j<Usl# (C) Hundreds of Iltersj/-lu;):" (B) 20 litersi s (A)
Enzyme which is used to cut the gene of interest is: (I/lulaa.b’/u’cﬁu‘é: -6
Lipase G0 (D) Amylase 73U (C) Luga@/ U (B) Endonuclease /’fmm (A)
Human ins:ulin gene was transferred into: ’(1)\ ..LJ’UU"’U’KJJHIGLJI -7
Algaed’ (D) VirusU7!s (C) b \\\gbg:terlaL & (B) Yeastez (A)
____is an antiviral protein: A L‘Jﬁ:/._all?u’/b -8
Interferonu;}/! (D) Insulin JJM (C)/ O% Thymosing ¥ (B) Uroklnase/ Km’ (A)
How much protein is produced by 50 kg of ye sj,\m 24 hours? b “at'/ ,vu":/u/ u"u/ 241_4"“('/(!( 50 .9
u’250tons (D) JZOOtQQ\a( c/150ton (B) u’ 100 ton (A)
Single cell protein can be obtained > aquJJ‘bu*:/Jﬁﬁ’ -10
birde—e_4; (D) afg o= ¢ (C) cow 2K (B) insect =<+ (A)
10x2=20 Write shoﬂ/a@%rs to any ten (10) questions. -éx/uwzi..,mmoc_df “24 )1
Write down the names of r?raJE)r technique in biotechnology. &%Léﬂd/’u{& JeCFL i
Explain Human Genome Project. -J/JL.;:JJI/ r”‘j}’ i
Write two basic types of the fermentation of carbohydrates. u*”c urd;u»u/ u"”/‘fu/,vu/( ~iii
Define Fermentation in biotechnology. *‘d/yu/_.v A8 J”M/a_..ﬂiﬂ‘f JeBEL v
Write some uses of Formic acid. “Jy /_,UWIH,LML.O -V
Define Fermenter. Give its two types. _uf?u"ld/w%_t'rb( /W/' Vi
What is genetic Engineering? °¢:/Ja...ff‘4fy@f ~Vii
Write any two objectives of Genetic Engineering. u"JMLa»»a_d/LJ/‘;fu@*’ ~Viii
Write any two basic steps in genetic engineering. J"’U/(LLJ" /»(:_.dfzi..f /" (B _ix
What is Beta-endorphin? What is its function? e T LS Ukl X
Write any two characteristics of transgenic animals. &UHLAWJUJ/%..&JU -Xi
What is novel protein or Mini-Food? fes /gmma,{,wt _Xii
1x10=10 Write answer to any One (1) question. &LVKJVJ&J/ (LY
Describe any eight achievements of Genetic Engineering in detail. -é/fMULVLLJKﬁ e WL 78 G 30

Define fermentation. Describe two basic types of fermentation. _Zub(uiu’; »Ju""'/ﬂlu’/bd/d/u’”’/ ..4/:‘Ulr
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Q.1: Tick (v)) the correct answer. <L @uu( (V)42 =1 /Ulr
Study of composition and medical applications of drugs is called: ..wéﬁauvé._,uw@,uw!uw -1
Physiology$.#L7” (D) Pharmacology(.#¥+6 (C) Biotechnology$.Jt£¥L (B) Mycology$.Y€2L (A)
Which drug is obtained from minerals? . -4...( e U~ .:.-..,l,»lu/d’ b:_..../b,w -2
Tincture lodiney/ 3% T/f (D) Antitoxins /"/E’G”’-l (C) Aspirin J 21 (B) Morphine u“’JL (A)
The cardio tonic, known as digitalis, is obtained from a plant: c.dlpd/d“ lp:_.ux.ig:i u"’&: -3
Cactus &5 (D) Canabus J'tY (C) Fox glove £,5 (B) Detura L5 (A)
The medicine which reduces the pain: '43/’?’ J))’(j’j} -4
Oplumur’! (D) Insulin u‘Jﬂ! (C) Aspirin ¢/ .~ (B) Cephalosporin ¢z (A)
Fleming discovered: -J..JLJ:A_.f“" -5
Penicillin u"t"' (D) Cephalosporin ¢x s (C) Tetracycline u"g” L1 /‘ (B) Aspirin ¢/ /I (A)

Which scientist promoted the idea of sterile surgery for the first time? "lfu’s‘-g‘// &c_._wdlp(di/_f L:_.ur‘ 17 -6
Thomas Grill /¢ (D)  Alexander Flemingf<> %21 (C) L,am@'kJ 0 (B)  Joseph Lister ~_i;z (A)
Long-term use of which induces/induce suicide throught’? Q‘:w” Iuﬁ/ ,vu.'.‘%rJz_/J( ic:.dwl..f.ofi -7

Marijuanat'zy « (D) Hallucinogens /-Ud)‘: (C) otlcs 1 (B) Sedatives x4~ (A)
Psilocin is obtained from: \i\ e bWl
Cannabis indicia@i‘lu'flf (D) Cannabis sativa l if \Cﬂ% Mushroom p/‘ (B) Cactus ) = (A)
Streptomycin is obtained from: A adxd" b 202 29
Microorganism > # 4. (D) fungidiZ( VirusJ71s (B) Bacteria | <& (A)
Pathogens contain special proteins, calk cb -adwg’:u"dn /:/u"/u’té A% 10

Antibiotics Jg’l,(f' (D) Ant|$é§tr s.,.iﬁ.»w (C) Antibodies /;Lu’"l (B) Antigens /'u‘i (A)
10x2 =20 Write shoﬂ/a@%rs to any ten (10) questions. -éx/...,ufz:._,uwo:_d! 24 )y

What are addictive drugs’?& ) " l/._,L»Lu B
What is the difference between drug and pharmaceutical drug? *‘LU/ L/u* l::gﬁr*’l.zbzai.f Js i
Write the names of different sources to obtain drugs. &Cfrtédwﬁidﬁiuw ~ii
What is Analgesic drug? Give an example. -i;dv.f“:_tfl» _,CWJ"I -iv
What is heroin? Write its bad effects. &q_/l/lz_ ,:Lu‘ I*’z_ l/u‘:/ -V
What is the difference between Sedatives and Narcotics? ('c_u/tfu* u’q L»l;r,w -Vi
What is meant by Hallucinations? “:_:/l/a,(hallucmatlons)/’”u”}“ - Vii
What is meant by social stigma? S Sy Ef i
Write the names of two types of Antibiotics. J‘“‘?LL(L}&:JJ@LJ S )
Differentiate between Vaccine and Vaccination. -J/ 5 bu/u"‘_,..w& y;l -X
What is meant by Booster shots? e olrl l/a_u” l//*i -Xi
What is difference between Antigens and Antibodies? -u‘/..oJ /’J /;Ld' 13 /-?u’ [ _xi

1x10=10 Write answer to any One (1) question. -4;20.,.,!:2({‘)&*..{ ;.d/ 'y
Explain major groups of antibiotics. -u/.»w,JuﬂfﬂL_,LmJﬂJ*t ..3/-.;"_)!;*

Describe resistance against antibiotics. -éubf._/!/._.a;’_.:uv&u’? Lu‘ l ..4/1Ulr





